
EE 230 —  HW 2.6               Name_________________________________________

The current source in the circuit at right 
steps abruptly from 0 to –0.5 V at t = 0.

 
 
 

a) Find the frequency-domain expression for the output voltage.  Simplify the expression so that it 
is in the form of ratio of two polynomials.    
 
 
 
Vo(s) =__________________________________________________________     
 
 
 
 
 
 
 
 
 
 
 

b) Find the corresponding time-domain expression for the output voltage. 
 
 
 
vo(t) =__________________________________________________________ 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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